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130100 VT A o 30 2, 052 76 76 54| B 304

Y3002 =H () R 69 62,564 1,080 918 216 | & 69kg ]
Y3007 | K41 18 1, 458 162 162 162 | BA 93k 7
31100 [ 60 6,156 1,080 972 972 [ BN 6L
31200 (LEE T 3 367 22 29 22 | BA 173

Y3014 RIRZE 3 648 43 43 43 BA 163

31700 | % v~ 100 6, 880 864 648 605 | B 104 — %
31800 {FHLAE 4 2, 808 140 140 140 | &M 2048

31900 X 17 3, 067 432 119 54 | B 17kg

36800 HoX k9 49 20, 941 486 432 389 | B 7Y 49kg
Y3041 KB 1D 8 864 108 108 108 | B 8kg
34400 b= b 34 13, 392 432 378 378 | B 34kg

34100 #K 23 4,822 43 43 40| B 11574
34200 /I 1 51 11, 470 238 238 194 BA 51kg

35100 WA A 11 7,074 756 648 540 | BN 11lkg

36600 7-EAX 150 16, 578 140 119 76| B 150kg
34780 BERESHLAZL 117 50, 188 135 135 119 B 3904

34930 LA o 14 5, 297 130 119 92 B 45
Y3017 EE Y 2 3,024] 1,512 1,512 1,512 | &M kg

Y3018 FHI 52 6, 307 140 119 86 | BN 523

Y3030 #IEA () 6 7,106 1,404 1, 404 918 | B bkg

Y3098 | T a— 12 4,320 108 | 108 108 | B 404

34800 |H< b 12 12, 096 108 97 97 | B 120% » k
36700 [IZANZ< 11 2, 959 324 | 281 216 | &M 11lkg

46108 S ANEOMEE 9 7, 808 324 324 162 | B 308y |
71011 | A7 L —% 44, 896 43 32 12/ B 1, 6307
71030 | Ko &F 65 16 16 16| BH 4K

71032 FS€F (F) B 972 32 22 22 | B 04 |
21150 LiE ; 2,182 86 86 65 | B 2T/ |
53101 1FLKAR 2 1,296 864 864 864 | &M 2kg

Y5010 HbiEx (&) 10 5, 146 594 594 216 | &N 10kg

30100 |72 A 2L 80 5,184 86 54 54 | IR 804

30300 A% 90 6, 264 864 648 648 | BE 94— 2
30300  AZ L 50 8,640| 1,728 1,728 1,728 | Bl 5 —R
31100 F3E 15 648 648 648 648 | B IR 1 —A
31200 ||LE3E 4 2,160| 2,160 2,160 2, 160 W5 17—
33500 |47 #¥ ) L 2 130 5 5 5| 1@ 2448

33810 | HHR 8 2, 484 65 65 59 |fE IR & 4048

37440 A UbH 2 896 896 896 896 |5 I8 & 1ir—=*
Y3072 (NE—U—7 3 2, 268 76 76 76 | REA 3048

31700 % 4 [ 360 13, 824 648 324 108 |5 3647 — %
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31800 139 NMAE 1,728 86 86 86 | = I 2048

31800 1E S5 AE | 2, 592 130 130 130 | IR B 2045

31950 AR 24 4,752 756 540 540 | H1[H 85—
32800 12 T 10 2, 268 54 16 NE 100
34300 |22t 25 7,992 1,836 1,512 1,512 |fEA 54—
34400 | k= K M 12 3,456 1,188 1,188 1,080 | BEIR B B
34460 I =L E & M 5 2, 592 108 108 108 |5 I8 B 24,8y
34100  #HAI 45 9, 288 1,080 1,080 810 | &% 97—
34100 #A/K 30 2,916 486 486 486 |ER B B4

34100 | #K 2L 10 2,160 1,080 1,080 1,080 IR 24— A
34100 | #/K L 10 2,592 1,296| 1,296 1,296 |EIRE 20— 2R
34500 t—<v v M 5,184 | 86 86 86 | FEVL & 604

34520 R —<w L 1,080 1,080 1, 080. 1,080 | EILE L 474
37200 Lk 978 2L 3,024 1,512 1,512 1,512 %@ 24—
33400 L ¥ % 756 54 54 54 | Rl 1418

33400 L ¥ = 18] 2,527 86 86 54| K%y 36(E |
38100 A LW =i} 6 3,996 97 97 38 | ‘HI% 60/
33100 7 AT A4 A 2] 2,160 162 162 108 | = 155
V3128 AL 864 43 | 43 43|1im 208
31310 AT 12 3,024 65| 65 22 BIRE 6088

31500 /M3 16 4, 752 65 65 54 | FEL B 804%

32500 FHoiE 2 594 54 32 32 | k43 153

36700 [ieAdn e 1 540 540 540 540 | th[E 1% b
37560 BHIT ‘ 1 4,536 540 432 378 | K% 103y 7
38400 XD XE ﬁ 5 1,080| 1,080 1,080 1,080 £ 1r—% |
38604 T U L XE 3 1,728 76 54 54| Bl 3048

41460 AMAE L 20 2,592 1,296| 1,296 1,296 Hi& 24 —R
42320 Yz Fa—L K 90 27,432 5,616 2,160 2, 160| H& 9r—=x |
47571 MRS U —r Amy L 6 1, 620 270 270 270 | g IR 61E
L &3 1,876 467,126
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